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Intrusion Response Decision Model Based on

Effect Evaluation Feedback

LI Jie', GONG Jian?

(1. School of Computer Science and Engineering, Southeast University, Nanjing 210096;

2. Computer Network Technology Key Laboratory of Jiangsu Province, Nanjing 210096)

Abstract Response decision is key to intrusion response. Based on the analysis of existing intrusion response decision models, a novel response

decision model based on effect evaluation feedback is proposed. Analysis of an example is also presented, by which the accuracy and adaptation

ability of the model is proved.
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